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Linear Inequalities

We use inequalities to model situations
that can be described by a
range of numbers instead of a single
number.

"Pick a humber greater than 7."
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When one quantity is....

less than

N\

greater than i

30 min
9 AM-6 PM

(- MON-FRI

less than or equal to

greater than or equal to

IV IA V

Which of these inequalities describes the time,
t minutes, for which a car could be legally parked?

t>30 t=30

t<30 t<30
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Define a variable and write an inequality for each of the following situation:

SPEED ? ALY
emw:tfr!s
LIMIT ' kb
55| . .
Variable: = Variable: -
Inequality: Inequality:

Height Restriction
You must be 14‘
al leasl 102 cm

to go on this ride. Ratiedd

Variable: o Variable: -

Inequality: Inequality:
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Homework section 6.3 March 25

#6 Write 4 numbers that are solutions of each inequality.
OT>Xx  Mray Y aumbers smaller Hun 7

#11 a)For each situation, define a variable and write an
inequality to describe the situation.
b)graph the solution.

iii) The minimum wage in Alberta is $8.40 an hour.
Em g0 40 £ pLo

#12 Write the inequality, are 1 and -3 solutions?

)  KEX Yyes a\M'\Jcs.

#13 Graph the solution of each inequality on a number line.

e)b <68 Sttt
bh 6] &8 63 Jo
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Determining whether a number &

° =

is a solution to an inequality
Is each number a solution of the inequality b=-42 @\
-8 35 4 45 0
We can do this in TWO different ways:
Method 1: Using a Number Line Method 2: Use Substitution.
Show all numbers on a line. Substitute each number for b in the inequality b = -4.

The solution of b > -4 is all numbers that are greater
than (to the right) or equal to -4. Determine whether the resulting inequality is
true or false.

4 a) Since -8 > -4 is false, -8 is not a solution.
b) Since -3.5 > -4 is true, -3.5 is a solution.
45 35 c) Since -4 = -4, -4 is a solution.
% t t +—e Z —i t i 8 d) Since -4.5 > -4 is false, -4.5 is not a solution.

e) Since 0 > -4 is ture, 0 is a solution.

less than -4 greater than -4

For a number to be greater than -4,
it must lie to the right of -4.

a) -8 is to the left of -4, so -8 is not a solution
b) -3.5 is to the right of -4 so -3.5 is a solution
c) -4 is equal to itself, so it is a solution
d) -4.5 is to the left of -4, so -4.5 is not a solution
e) 0 is to the right of -4, so 0 is a solution

March 26, 2012
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4 Practice problems (are you ready for your quiz?)

1) q(r—-u—@—-—l—r 2) =
-1 0 Z 3 26 3 35 4

D SN X=3.G

3) a>3.b 4  b<-b

333435 1.‘| 39 L lq L
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